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Metodo de Buler
y1“_>' ------ .
Yot——- ./

(=7 120~ y'(x0)

y(Xo) = Yo

R
v

y1 — Yo~ hy'(Xq)
h — Xl — XO

I V1~ ¥Yo + hy'(Xp) I
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Vi =
vo + hy'(xXo)




' o T e
e —
X K

=

A A

L S

+ o+
® -
A2
Il
™ N
A D




+ hy’'(xo)
yv: + hy'(x1)
yv> + hy'(x3)

Yo

¥

Y2 =

Y3







:y‘ = 1y
y(0) =1

Aoroximar y(05) =

dy
—=)
dx g

d
—y=2xdx

Y



In(y) =x%+C
In(1)= 02+ C

0,52
y==¢

y = 1284025



!y‘ = Ly

Y1 = Yo + h[f (x0,y0)]
y, =1+ 0,1[2.(0).(1)]
yvi=14+40=1



Y2 = V1 + h[f(x1,)’1)]
y, =1+ 0,1[2.(0,1). (1)]
Vi = 1+4+0,02=1,02

i X y f'(x,y) yn

0 0 1 0 1

1 0,1 1 0,2 1,02

2 0,2 1,02 0,408 1,0608
3 0,3 1,0608 0,63648 1,124448
4 0,4 1,124448 0,899558 1,214404
5 0,5 1,214404



Runge-Kutta 2% ordem

h .
m+1=ui+§[K1+K2] i=0,1,....N -1

Kl - f(ziaui)
Ky = f(z; + h,u; + h.Ky)

X y k1 xi+h yi+h*k1 k2 yn
0 1 0 0,1 1 0,2 1,01
0,1 1,01 0,202 0,2 1,0302 0,41208 1,040704

0,2 1,040704 0,416282 0,3 1,082332 0,649399 1,093988
0,3 1,093988 0,656393 0,4 1,159627 0,927702 1,173193
0,4 1,173193 0,938554 0,5 1,267048 1,267048 1,283473
0,5 1,283473

N b W N = O -



Runge-Kutta 4 ordem

1
m+1=m+E[K1+2K2+2K3+K4] 1=0,1,....N —1

Kl =h. f(ziau‘i)
R K

K2=h-f($i+§aui+7)
h K
K3=h.f(x.-+§,m+72)

Ky=h. f(zi + h,u; + K3)



y = X+2xy
h=01
yom1
1.3-0.5

1
Wit] = Ui + E[Kl + 2K2 + 2K3 + K4

X+2xy h 0,1
X0 0,5
yO 1
K1 h Fix.y) K3 h F(X0+h/2,YO+k2/2)
0,1 0,5 2 0,5 1
0,1 1,5 Xi 0,55
0,15 Yi 1,086625
0,1 0,55 2 0,55 1,086625
0,1 1,7452875
0,17452875
K2 h F(X0+h/2,YO+k1/2) K4 h F(X0+h,Y0+k3)
Xi 0,55 X0 0,6
Yi 1,075 YO 1,17452875
0,1 0,55 2 0,55 1,075 0,1 0,6 2 0,6 1,17452875
0,1 1,73 0,1 2,0094345
0,17325 0,20094345
YO+1 YO K1 2K2 2K3 K4
1 0,15 0,35 0,349 0,20094345
1 1,047
1 0,174
1,17




X+2Xy h 0,1
X0 0,6
y0 1,17441683

K1 h Fix.y) K3 h F(X1+h/2,Y1+k2/2)
0,1 0,6 2 0,6 1,17441683
0,1 2,00530019 Xi 0,65
0,20053002 Yi 1,28978414
0,1 0,65 2 0,65 1,28978414
0,1 2,32671939
0,23267194
K2 h F(X1+h/2,Y1+k1/2) K4 h F(X1+h,Y1+k3)
Xi 0,65 X0 0,7
Yi 1,27488183 Y0 1,40708876
0,1 0,65 2 0,65 1,27488183 0,1 0,7 2 0,7 1,40708876
0,1 2,30734638 0,1 2,665952427
0,23073464 0,26659243
Y0+1 YO K1 2K2 2K3 K4

1,17441683 0,20053002 0,46146928 0,46534388 0,26659243
1,17441683 1,3547356

1,17441683 0,23245593

1,40687276



Y= X2y

- Y i1 =Yi+ 2[Ky + 2Kot 2K + Ky

Xo=0.5
o 2xy ST Com h em evidéncia
X0 0,5
yO 1
K1 Fix,y) K3 F(X0+h/2,YO+hk2/2)
0,5 2 0,5 1
s X1 0,55
Yi 1,086625
0,55 2 0,55 1,086625
1,7452875
K2 F(X0+h/2,Y0+hk1/2) K4 F(X0+h,YO+hk3)
X1 0,55 X0 0,6
Yi 1,075 YO 1,17452875
0,55 2 0,55 1,075 0,6 2 0,6 1,17452875
1,73 2,0054345
YOo+1 YO h/6 K1 2K2 2K3 K4

1 0,017 1,5 3,465 3,450575 2,0054345
1 0,017 10,5

1 0,174

1,17




X+2Xy

K1

Yi+l

X1
vyl
Fix,y)

0,6 2
2,00530019
F(X1+h/2,Y1+hk1/2)

X1 0,65

Y1l 1,27488183

0,65 2
2,30734638
Y1l h/6

1,17441683 0,01666667 2,00930019 4,61469277 4,65343878 2,66952427

1,17441683 0,01666667
1,17441683 0,23245593
1,40687276

0,1
0,6
1,17441683

0,6 1,17441683

0,65 1,27488183

K1 2K2

13,547356

F(X1+h/2,y1+hk2/2)

X1 0,65
Yl 1,28578414

0,65 2 0,65
2,32671939
F(X1+h,Y1+hk3)

X0 0,7

Y0 1,40708876

0,7 2 0,7
2,66952427

1,28978414

1,40708876



